ooooon

1. 0O0O0d

gbooboooooboboooboobobobobon
gboboobobooboobooboobobooooon
gogobboooobboooboooboboooobod
ubooooooooooboooboooooooboooobo
gbooobooooooboooooooooooooobo
uboooOoboobOobobobo.oooboooooon
uoboooooooooobooooobooooobooon
gboooooooboooboooooooobooobooobo
ubooooooooooboooboobooobooobobo
obobooOoooooobooobooboobooooboooobn
gboboooboobobobobobobobooooon
gboboooboboobooboboooobobobooo
goobooboooobobooooboooboboooooboog
gboooobooooo-boobobobooobooboon
gboboboobobobooooobboooobobooon
gbobooboobobgoboooooboboboboboo
gbobooobobobobobooboboboooon
uboooooooooobooobooobooobooobo
ubooooboooooob booooooooboood

2. JOoboObooooboobooon

21 0ODOO0OOO0OOODOOOOOO

gooooboobboooboobooooooooog
goooboooooooooooooooooboooobo
00000000000 F=F°¢-FPOOOOOOOO
ooooooOoOoOoOoOoOoOoOoOoOooooeBOOOOOO
0000 Bc R™im (ngy, = 1,2,3) 000008000
oo0o000Do0D00O naie OO0OOOD0O0O RODOO
00000o0000000oooU0o (ooouo)ooo
gboboooogoobooo

dov
g%hﬂn:/T:M®Vm%7
B

d —
—/pOB-n—v—/ T -nds
B J 0.8

=0, V. omE vy, (1)

00000000000 eB)ODODOOUOOJ =detF O
0000 F=eeVx 0OODOOOO7T0O Kirchhoff O
O0p000000BOOOOOTO §B0000ODODNO
ubooobOqnUOOOOoO0OOOobOO0OobOO0o0obOooooon
oooooooood v, 0o

vos = {0+ @(B) — Rram|n € (Whe(B)]am,
(e(X) =0 for X €08} (2)

00008,B000000W 00000000 LP(B)
0000 Sobolev DOOODO (p>2)000000 (1)0

goooobbooogogd
goooobbooogogd

goooood
0000000 00000
0ooo 00 00

oobO0oobooboooooooooooooooon
O0 Aw 00000000000

d
[ [eauri+ (au Va7 (ne¥a) S

+ 9o, (Tesm) =0 Vnerv, (3)

000 200 go,(r;m) #0 0000000 (00D0) 0
0000g,, =0000000000000000000
0000000 Laume O Kirchhof 000 Auw 0000
Le00000000000000000

LauTt =CF : [Au® Vg, ] (4)

00000 (3)00000oooooooooooooo
000000000000D0000e? 00000400
consistent OO0 0O O0OOO0OOOO

22 0000000000000000O00000
(1) 00000000000000
000000000000000¢000000000

W) 00000000000000 K¢ Doooo

W(b°,§) = W(b°) + H(S) (5)

000000000000000000b =F°-F*' 0O
0000 Cauchy-Green 00 0000060000000
O0o0o00o0O0oO0OD0O0O0OD0O0O00D0OO0OO0OOOOO00O000

L2000 . 2000 .
=2 Y Tt b (6)
oboooboooooooo
o (b°, OH

000000000000 CauchyUOOqOODODOO
gboboboopoboboboboboooobobodg
gbobooboboboobooboboooobobonbg
gboboobopooobgooboboboooobobd
googoooo

1 . 0g(a,q)

L,b%) b7 = : 8
(L) 5202 0
ALY 9
§=42 Q
000000000Oyg(e,q) UOOOOOOOODOOOy
O00000Lh°0b° 0000 LieDO0OOOODOOO
flo,q) 000 Kuhn-Tucker 00000000 O0O

1
2

¥ >0, flo,q)<0, f(e,q9)=0 (10)
gooogoo _
Yf(o,q) =0 (11)
ggooogg



(2) 0DUO0OODOOOOODOOODOOO
oo0000o0oooOo0b0Oo0o0oOooDbDOooDO Drucker—
Pragar 0000000000000 OOOOODOOO
00 (b)) 000000000000 0OO0OO0ODUODOOD
ooowoooooooooo agA=1,2,3)0000
00000000 &4 =log(A4) 0000 Henky O OO

e (&7 (&7 1 (&) e e 2
W(el,e3,€3) = §>\[51 +éEy+ 53]
+u[(e5)? 4 (5)° + (£5)7] (12)

oo0oooo0oooOA>0,p>00 LaméOODOOO0OO
00000Cauchy ODDOOODODOO

aW 7 e e e 2 e
O—A:agizi[gl +€2+53} +//J€A, (13)
0 0 0 Drucker—Prager 0O 00O 00O
1 _ _
F(e.&) = —=[ldevlo]] +7(9)] = [a40 — a(€)] <0
(14)

0000000006 = trfe]000 devie] = o—51 00
000 Kirchhoff 10 ¢ 00000000000|dev[o]| =
Vdevlo] 1 dev[e] 00000000006, 000000
00000000g(F) 0000000000000000
oooo

97(0) = Byo (15)

00o0o0ooooO0oooo0ooooO0 g, 000000
0000 Drucker-Prager D0 OO0 O0O0O0O0D0OOOOO
0000000000000 64,8 00000 Mohr-
Coulomb 0000 ¢00000O0 AO0OODO

_ 6¢cos 1 6 sin
V3(3+ Asind)” V2 V3(3 + Asin 0)

(16)
000000 (-1<A<1H00DO0O0O0DAOOOOOOO
A=-1,10000000000 Drucker-Prager 0 00O
030000000000 Mohr—Coulomb 0000000
ooo0oOoOoOoOoOoopooooOoOooooOoOoOgoo
oooo

1
9(0,8) = ﬁ[lldeV[U]ngg(&) —[oy0 —q(§)] <0 (17)
0000y, =4,600004,0000000000460
ooo

iﬂ B 6sin 0
V20 /B(3+ Asinf)

gopbobogod

g00d0obO00oDOOo0oobooOOoobooooooog
g00d0obOOo0ooOOoOobOoOobOOooboobbooobo
000000 returen mapping0 00000000 OOO
g0oo0d0obOO00ooOOoobOOo0obOOooOoooOobogbo
O oOODOOOOODOODoOODODOOoDoOooOOooooo
opooooogo

(18)

Bl - FRYHR

4608EH
47538 5%
H, W, =2.00

W, as =2

U-1 dbobooobobooboooooboo

3. Uboboboboboboboboboon

3.1 000000000
ooboooboooooooboobooooooooo
ooooooboooo
oob0oobooooboooooooboooooooo
oooobooobOooboooboooooobooooon
oobO0oobooboooooooobooooooon
oobOoO0oobOoobbooooooooooooooon
obooooOoboooooooooon

3.2 OJO0OODOOOOOO

oooooooboooob 0-100b0oboooo
oooboobobo w,0o0oO HyOoooooooooo
O0yO00O000000OO0DOOOOOO0ODOOoOooo
oobO0oobooboooooooooooooooon
oob00o0ooO0oooooooboog 00000000
ooboboooooOoobooooboooboooooooog
00000000000 Hy/Wey=2000000O

ooooobooobooobooooboooooooo
000000 480000000 96000 OO0 4,608(0
00 4753) 0 0000000000000 0OO

3.3 ODUOO0oDbOoOoogn
000000000 o0oo0oooooooooo (OO
O Lamé OO0 \pODOOOOO EOOOOODO vO

vE E

AT roa-m) My

(19)
00000000000000000 E=20MPa000
000 »=030000000000000000000
000000000000 (),()00000000000
q(§) 00O

2O = ~[ro(1+ )" 7] (20)
€40

000 nO0000000D0000DO000O0OO0ODODOO0O
0o0o0o0o0ooooooobooooooooobooooo
0D000000000007,0,éw,n 0000000000
Jooooboooboboo0ooooooobobooooo
OD000000000 7y = 100kPa,é, = 0.005, n =
0.000,h = 0.00kPa 00000000 (?2),) 00000
000 By =550kPa, 00000 B, =50kPad 000



Ho

Z

0-2 00000000 (Doo100oooon)

XFR L RE— R 2 RE—N

BRI KE—F SORPR 2 E— N

0-3 0000 (oooo)ooag

34 0OO0OOOOO

00000000000 sinf,cos§ 00000 (DOO
00000)0000000o0o0ooog R=2.0000
gooooooobooooo 1oooooobooobo
gbooooooooooooogoo

000,00000000000D0DO000000 sind
gboooboooooobooobboo 1000001000
200000 20000000000000000

o000 snfO000000CDODOOO0OOCDODOOOOO
goooooooboooboooobooobooooboobo
uooooo30000000b000000000DbAO
gbooooboooooooboooboooboooooon
gboooooooooooooooobooooooobo
o000 f000O00O0OO0OO0 W, 0000000000
0000oo0oOoooooo@-200)

5::%}x1mx%) (21)

0

000000000 6=05%,1%,2%,10% 000000
00000000000000000000000000
0000000000000O0

4. U0d0bOobOobobobobobOoooon

4.1 OO000OO0OO0ODOOO0ODOOODOOObOOOOObDOo

gbooooboooboooboobooobooooboooobooo
gboboooooboooboooobooogo

B 8 8 8

WTTE F/W (kPa)

5 10 15
WERL  (AH/H,) x100 %)
(e) D00 10

10

15

5
WZEAL

(AH/H,) x100 ()

20

(b)y DOD 20

BHE F/W (kPa)

WAFE F/W (kPa)

5 10 15 20
AR (AH/H,) x100 (&)
(e)0oo 10

5 10 15 20
WM (AH/H,) x100 ()
(dyoo 20

0-4 0D0-0000 (D000)

B 8 &8 8

g

5 10 15
BZEAr  (AH/H,) x100 (%)
(a) 00D 10

BEAL  (AH/H,) x100 %)
(b)) DOO 20

HE F/W (cPa)

570.5%

2%
100f ————- 5=10%

5 10 15 2 0 5 10 15 20
BEAR  (AH/H,) x100 (%) BZER  (AH/H,) x100 ()

()00 10 (d) 00 20

0-5 00-0000 (0000)

0400-50000000000000000000
oobobO0ooooooooooooooooooobooon
oobO0oo0oooooobooobooboboooboooooon
obooobOoooooooooon

g-e000booboobooobooboooboobogn
gboboboopbobobobobobobobobg
obooobOooboooboooooboboooobooooon
oooooo.

gbooboobobobobobboooooooooon
gbobobopobobobobobobobobobog
gobobbooooboooobbooooboobobooooo
gbobobopoooooooboboobobobonbog
gboboboopoobobobobobobobonbg
gbooooobooboboooobobooooooobo

4.2 00OO0OO0O0OODOOOOOOO
oobO0oooooooooobooboooooooonoo

oobO0oobooooooooobooobooooooon

ooboooobooooboooboboooo-7,0-800O



BEEE

8

o , oooo

WGE F/W, (Pa)
g
B
ik
[

WhZEAL (AlHO/HD) %100 (%)

0—-6 D000O0O0OODO0OO0OOUOO (oOo1oooooo 2%)

gboooboooooooooooooooooooobo
ubboooboooooboobobooooooooooon

oooo 2%
I I

oooo oooo

loading

unloading

2% ooo oooo
R - ooogd 2%

&N . 0-9 D0O0O0O0O0D0 000 10 (0000 2%)
\

ooo oooo
oooo 10%

O—7 000000000000 (D ooo10)

uboooooooooooooobooboooboooobo
gboobooobobOooooboobobooboboooooo
gbooooooobooboooooooobooooboooobo
odo ooo oooo

4.3 0O0O0OO0OO 0-10 0O0000
gboooooooboooooooboooobooooboono
boooooooboooboooooooobooobooobo

0oo00oooooooooooo. 4.4 000000000

000000000000 1000000 2%0000 0000000000 0D00O0000OD0D0O0O0O0
0000000000000 0000000000000 QOOoOoOoO0OO0O00O000000000o0ooonoooon
ooooooO 0-10000. 000000000000 00D0D00000D0O0000N

00000000 0o0ooooo 1% 0000o00o oob00O00 0-1100000b0o0000o0o000oboo0
gbooooooooobooooooooooobooobo oobO0oooOoobooobOooobooooooboooon
ooobooO0o obobooobobooooocoooboon 000000000 (0D BC)DoOoUOoOooOoOooooo
gboooboooooobooooooooooobooobo oobO0oooOoobooooooooooooooooon
god gbobooboooobooboobooooon



£ E ¥
H B
e W

0
SHIEH P (Pa) St P ba)

oo oo

] 4 \
s s
ERp
5 %
GHIES P (kPa)
oo

O
O
O

20 o %0 20

oood

0-11 0000 (oo 1000000 2%)

\N

05
REVTHE,

BEGH G (Pa)
RGN q (Pa)

REVTHE,

0O ad O 0o
ooo
¥ g .
wrora, wroos,
0O ad O 0o

ooood

0-12 JO000-0000000 (oo 1000000 2%)

U-12000000000000000O0000O000O0OO
000o00O00o0o0o0oO0o0ooO0OoD (o eb)yooo
gbooboboboobobooooobobobooon
gbobooobobobobobobobobooooon
uboooooboobooboooooboo

U-1300000000000000O00000000
00000000000 1/io00ooooooooooo
ubooooooooobooobooboobooooboooobn
gpoooog

4.5 0000000 OO0ODOOODOOO0

gbooooboooboooboobooobooooboooobooo
gboboooboooooooboboboooboooon
gogboooooooooooo.

0-14000000000000000 pOOODOO
ooo0ooboO0oob eO0O0OO0O0OO0O0DOOOO0OODOO
000 ABCDOOOOOOOODOOOODOOODOOOO
0.0-140000000000000 d=e/DO0O0O0O
000000000 (DoooooooooOo)ooDoooo
gbob0-1500000000000000000000A0
000 DO30% 0000000000000 00OOO
uboooooooooooboobooboooboooobo
obooooboooboobooobooooobooog

" L H‘?Qs ” [ eR S.OG
oo oo
ooo
g £
' RROT5 &, m RO % &, *
oo oo
£ :
* RO »-‘J,DG WHOTH E,
oo oo
good

0-13 D000-0000000 (oo 1000000 2%)

d D IEBUE U7z BEEE
a : BERARAR T 6 OFEE
D ZEJ % D YRR O %) 4~k

0-14 OO00O0OO0OOO0OOOCOOOO0

46 000000000D0000O0O0O
0000000000000000000000000
00000000000000000000000000
00000000000000,000000000000
00000000000000000000000000
000000000000000000000000 0.0
% 000000000000000000000000
00000000000000000000000000
15%000000000000000000
00000%0000000000000000000
00000000000000000000000000
00000000000000000000000000
00000000000000000 6%) 0,0000
Frae/Wo(kPa) 000000000000000000
0000000-1600000000000000000
000000000000000000



0.5r

HAMUVT A (WPa)

0 0.5 1
ERIE L= 5EEE

0-15 Dogbogboooboooooooooooo

HHBIERE 0.9827
B /W, = =12.1445 +398.33

THBIRE 09992
Py W, = 62726 +323.41

TR P, (1Pa)

0 4 8 12 0 4 B 12
MRS ©) PFEES (%)

ooo oooo

0-16 DOooOobOOooOOooOOooOooooon

EIEE— R ESpEeit FERA AR
REPRIIR 449. 09 343. 39
KEPR2IR 471. 81 344. 47

FORPRLIR 398. 33 323. 41

ORI 464. 49 436. 41

A7 o (kPa)

U-1 0oooooo

U-10000b0bgoooooboboooboobooon
gbobboobooooobobobooooboboon
gbobooboobobooboobobobobooooboon
gbooooooobooboooooooobooooboooobo
uboooobooooboobooooobooog

gboooobobobobobooooobobobon
0000000000000000 20% 0000000
gogbooogoooooo

gboobooooobobobooboobobobobon
gboboobooboboobobobobobobobobooon
gbobooooobobobobobobobooooo
gogbooogoooooo

5. 00

1. 000obO0obO0obOoboooooboobobobon
goooooooooo.ooooobooogooo
gbooooooooooooooooooogan
goooooooooobooooboboooboo

ooobooooooo
2.00000Db0b0ObObObOOobOboOoOoOoDooDoOoo
gboooOooOobooboboobooooooooon
gboooooobooooobooboooon
. 00b00bO0ob0ooooboobooboboboDbo
00 20%00000,0000000000000
gboooooo

oood

1) 00 00,00 00,00 00,00 00,00 00: O
gbooogoboboobobooobobooooboob, oo
00000, No. 701/1I1-58, pp. 357-371 , 2002.

2) 00 00,00 000,00 00,0000:00000
gbooobooboooobobooobobo,obooog
0, No. 701/1I1-58, pp. 73-86 , 2002.

3) 000,00 00:00000D0U0ODOUOOOOOOO
oooooooooooooooo,oocoogogg, Vol
46A, pp. 241-250, 2000.

4) 00 00,00 0O0: Scaled Corrector 10 O0DOO0OO0O
000000000, 000000000 (AD), Vol. 58,
No. 555, pp. 2191-2198, 1992.

5 0000000 00,00 00,00 U0: 000000
gobooboobooboobooobbooboobog
000000,0000000, Vol. 5, pp. 329-338, 2002.



